E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

1T #HER 1 = | ERT 4453 &b 3 #HER| 41 B HFE 1133 FHih 5 #HER| -1 F| BRE 1121 Hi
1T #HER 2 = | EHT 4455 &b 3 #HEX| 42 F| 5FE 1133 FHih 5 ®HRE| 32 F| BRE 1120 Hib
1T @] -1 5| EHE 4457 & 4 HEX| 11 5| EET 4424 FEh 5 #HR 4 5| BB 4409 FHi
1T @R | 32 & EHE 4457 & 4 HEX| 1-2 F| EET 4423 FHih 5 #HR J 5| BB 4409 FHit
T #HER 4 = | EET 4424 FEih 4 HEX | 1-3 F| EE 4422 FEh 6 ®HX| 11 F| BRE 1124 Hi
1T #HER 5 = | EET 4424 FEih 4 @HEX| 1-4 5| EET 4418 FHih 6 ®HX| 1-2 F| BR 1124 Hi
2 @R 1 = | JERT 4458 FEih 4 HEX| 1-5 F| EET 4422 FHh 6 ®HX| 1-3 F| 5R 1124 Hi
2 @R 2 5| BE 4460 FHih 4 HEX| 1-6 = | EET 4423 FHih 6 ®HX| 2-1 & BR 1133 Hit
2 @R 3 5| BE 4460 FHih 4 #HR| 211 5| BE 4419 FHEis 6 ®HWX| 2-2 F| BR 1133 Hit
2 @R 4 BT 4459 FEih 4 HEX| 2-2 5| EET 4413 FHih 6 ®HX| 2-3 F| 5R 1132 Hi
2 @R 5 = | JEET 4459 b 4 #HEX| 2-3 F| EET 4413 FHih 6 ®HWX| 224 F| BR 1132 Hi
2 @R 6 = | JEET 4459 b 4 @R[ 3 F| EHE 4420 FHit 6 ®HX| 25 H| BR 1132 Hi
2 @R 7 5| BE 4415 FHih 5 #WR|[ 11 5| BE 4416 FHi 6 #HRX 3 5| BER 1132 FHi
2 @R 8 = | JEHT 4458 ZEih 5 #WR|[1-2 5| BE 4415 FHi 6 #HRX 4 5| BR 1127 FHis
2 @R 9 = | JEHT 4458 ZEih 5 #WR|[1-3 5| BE 4414 FHis 6 ®HX| -1 & BR 1127 Hi
2 @R 10 5| EET 4458 & 5 #WR|[1-4 5| BE 4418 FHi 6 ®HWX| 52 F| BR 1127 Hi
2 @R 11 = | JEHT 4458 ZEih 5 #WR|[1-5 5| BE 4418 FHi 6 ®HWX| -3 F| BR 1127 Hi
3 #R 1 = | HRE 1137 Z&Hih 5 #WR|[1-6 5| BE 4415 FHi 6 ®HWX| -4 F| BR 1127 Hi
3 #HE| 21 & BERE 1133 Hi 5 #®WR|[1-7 5| BE 4416 FHi 6 ®HWX| 55 H| BRE 1127 Hi
3 #HER| 22 B BERE 1133 Hi 5 #WR|[1-8 5| BE 4416 FHit 6 ®HX| 56 F| HR 1127 Hi
3 @R 3 = | HE 1133 Z&Hih S @R[ 2 & HE 1121 Hit 6 ®HWX| 57 H| BR 1127 Hi




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

6 ®WX| 58 F| HFE 11271 &His 10 #HX| 5 S| 5R 1216 & 12 #HE 2 5| 5R 1228 FHis
6 ®WX| 59 F| HFE 11271 &His 10 #HX| 6 S| 5R 1216 & 12 #HE 3 5| 5R 1233 FHit
6 #HRX 6 =| HRE 1122 Z&Hih 10 #HX| 71 5| 5R 1117 Hi 12 #HE 4 =| R 1091 FHis
7 #R 1 = | EET 4421 FHih 10 #HX|7-2 5| 5& 1117 Hi 12 #HE J =| R 1091 FHis
8 #HRX 1 = | ERT 4413 FHih n #HX| 1-1 5| 5R 1215 His 12 #HE 6 =| R 1091 FHis
8 #RX 2 = | ERT 4413 FHih n #HX|1-2 5| 5R 1216 His 12 #HE 7 5| 5R 1231 FHis
8 #RX 3 = | ERT 4413 &b n #HX| 2 S| 5R 1215 & 12 #HE 8 5| 5R 1231 FHis
8 #HRX 4 = | ERT 4413 &b " #HX| 31 5| 5R 1219 Hi 12 #HE 9 5| 5R 1230 FHis
8 #HRX 5 = | ERT 4420 b " #HX|3-2 5| 5F 1219 Hi 13 #HE| 1-1 & BRE 1136 Hih
9 #R 1 = | EET 4412 FEih 1" #HX| 33 5| 5F 1216 Hit 13 | 1-2 & BR 1136 Hib
9 #R 2 = | EET 4412 FEih " #HX| 34 5| 5 1216 His 13 #HE| 13 F| BRE 1136 Hi
9 #R 3 = | EET 4411 FHFih " #HX| 41 5| 5R 1218 His 13 | 221 & BR 1135 Hi
9 #R 4 = | EET 4411 FHFih " #HX| 42 5| 5F 1219 Hi 13 #HR| 222 S| BR 1135 Hi
10 #HX| 1-1 & 5F 1129 &His n #HX| 5 S| 5R 1228 & 14 HE| 1-1 5| BRE 1145 Hi
10 #HX| 1-2 F| 5F 1117 &His n #HX| 6 S| 5R 1228 & 14 HE| 1-2 S| BR 1145 Hi
10 #HE 2 =| HE 1129 Z&Hih n #HX| 7 5| 5R 1229 & 14 HE| 13 F| BR 1145 Hi
10 #HX| -1 & 5F 1213 &His n #HX| 8 S| 5| 1229 & 14 HE| 14 S| BRE 1145 Hi
10 #HX| 32 H| 5F 1214 FHis n #HX| 9 S| 5R 1217 & 14 HE| 1-5 & BR 1145 Hi
10 #HX| 33 F| 5F 1213 &His n #HX| 10 5| 5R 1216 & 14 HE| 1-6 S| BR 1145 Hit
10 #HX| 34 F| 5F 1220 His 12 #HR| 1-1 5| 5R 1224 FHis 14 HE| 1-1 & BR 1145 Hi
10 #HE 4 =| HKRE 1216 Z&Hih 12 #HR|1-2 5| 5 1228 Hi 14 HE| 1-8 F| BR 1145 Hi




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

14 #HEX| 19 F| 5F 1145 &H# 5 17 #HE| 51 5| 5RE 1210 His 19 #HX| 42 S| BR 12001 Hi
14 #HE| 1-10 &| HFE 1145 & 4 17 #HER| 52 5| 5F 1212 His 19 #HX| 43 F| BR 12001 Hi
15 #HEX| 11 &5 HF 1131 & 1 17 #HEX| 53 & 5R 1212 Hi 19 #HX| 44 S| BR 1221 Hi
15 #HE| 1-2 & 5F 1131 &HHf 2 17 #HEX| 54 5| 5R 1212 Hi 20 HEX 1 =| R 1156 FHis
15 #HX| 13 F| 5F 1131 &Hi 3 17 #HE| 55 5| 5RE 1212 Hi 20 HEX 2 5| 5R 1207 FHis
16 #HX| 11 & &R 1145 & 4 17 #HE| 56 5| 5R 1212 Hi 20 HEX 3 5| BR 1222 FHis
16 #HX| 1-2 H| HF 1147 & 1 17 #HER| 571 5| 5R 1212 Hi 21 #HEX 1 5| 5R 1180 FHis
16 #HX| 1-3 & 5F 1146 &Hi 3 17 #HEX| 58 & HRE 1210 Hi 21 #HEX 2 =| 5R 1181 FHis
16 #HX| 14 F| 5F 1145 &Hi 6 17 #HX| 6 S| 5K 1146 & 21 #HER| -1 5| 5FE 1182 Hih
16 ®HX| 1-5 F| HF 1145 &Hi 6 18 #HX| 1 S| 5R 1153 & 21 #HER| 32 B 5FE 1182 Hih
16 #HE 2 =| 5FE 1131 ZHFi#h 2 18 #HEX| 2-1 5| 5 1154 Hits 21 #HEX 4 5| 5R 1206 FHis
16 #HE 3 5| BRE 1212 FHi# 10 18 #HX|2-2 5| 5R& 1208 His 21 #HER| 51 5| 5FE 1206 &Hih
16 #HE 4 =| 5KE 1131 ZHFi#h 2 18 #HX| 23 5| 5 1208 His 21 #HXR| 52 B | 5FE 1226 Hih
17 #HE 1 5| 5R 1147 FHith 1 18 #HEX| 24 5| 5 1209 His 21 #HER| 53 S| 5FE 1226 Hih
17 #HX| 221 5| 5FE 1152 &Hi 6 18 #HE| 31 5| 5RE 1212 Hi 21 #HER| 54 B 5FE 1226 Hih
17 #HR| 2-2 H| 5FE 1146 & 1 18 #HEX| 32 S| 5F 1208 Hi 21 #HXR| 55 S| 5FE 1206 Hih
17 #HX| 223 & 5FE 1152 FHi 3 18 #HEX| 33 & 5F 1212 Hi 21 #HEX 6 =| R 1156 FHih
17 #HR| -1 5| R 1210 #H# 4 19 #HX| 1 S| 5R 1153 & 21 #HEX 7 =| 5R 1157 FHis
17 #HR| 32 F| 5F 1211 &His 19 #HX| 2 S| 5 1156 & 22 #HEX 1 5| 5R 1185 FHit
17 #HE| 41 5| 5F 1210 FHis 2 19 #HX| 3 S| 5IR 1156 & 22 #HEX 2 5| 5R 1180 FHis
17 #HR| 42 H| 5F 1211 &His 19 #HEX| 41 5| 5RE 1155 Hit 22 #HEX 3 5| 5R 1183 FHit




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

22 R 4 = | R 1204 Z&Hih 24 HmR| 22 5| R 1212 &H#h 3 21 #HER| 11 5| 5FE 1193 &Hih
22 HmR| 51 S| BR 1226 FHih 24 @R[ 3 & HER 1214 FE 1 21 #HER| 12 S| 5FE 1200 &
22 #HmR| 52 S| BR 1226 FHh 2% @R[ 1 5| HER 1212 & 4 21 #HER| 21 5| 5FRE 1197 &
22 #HR| 53 S| BR 1226 FHih 2% @wWR| 2 S| HER 1221 H# 12 21 #HXR| 22 S| 5FE 1198 &Hih
22 #HR| 54 S| BR 1226 FHih 2 #HR| 31 5| BEE 1221 Fir 11 21 #HX| 23 5| 5FE 1198 &Hih
23 @R 1 = | KR 1190 Z&Hih 25 #HR|32 S| HEE 1221 Fi 10 21 #HXR| 224 S| 5F 1237 &
23 @R 2 = | HE 1191 s 25 #HR|41 5| HFE 1221 &EF#h 9 21 #HEX 3 5| 5R 1236 FHits
23 @R 3 = | R 1192 Z&Hih 25 #HR|42 5| HEFE 1221 &E#h 8 21 #HEX| 41 5| 5FE 1200 &Hih
23 @R 4 = | HE 1200 s 25 #HR|51 5| R 1221 &HF#h 7 21 #HER| 42 5| 5FE 1236 &Hih
23 @R ) = | KR 1200 s 25 #HR|52 5| R 1222 Hi 4 21 #HEX J =| R 1200 FHis
23 @R 6 = | KR 1200 s 25 #HR|[53 5| HEE 1222 Hih 4 28 #HER| 11 5| 5FE 1237 &
23 #HR| -1 5| BR 12001 FHih 2% ®HWR| 6 S| HER 1221 & 11 28 HEX| 1-2 S| 5FE 1240 FHih
23 #HwR| 12 S| BR 12001 FHh 2% @R 7T S| HEm 1212 & 3 28 ®HEX| 1-3 S| 5FE 1090 Hih
23 #HR| 183 S| BR 1200 FHih 26 HR|[1-1 5| R 1225 & 2 28 HEX| 14 S| 5F 1091 Hih
23 @R 8 = | H5E 1200 s 26 HmR|(1-2 5| HEE 1225 Hi 1 28 #HEX| 21 S| 5FRE 1240 FHih
23 @R 9 = | HE 1235 #&Hih 26 HwR| 21 5| R 1221 & 2 28 #HEX| 22 S| 5FE 1091 Hih
23 #HmR| 1.1 5| BR 12001 i 260 wR| 22 5| HRE 1221 & 2 28  #HEX 3 =| 5R 1089 FHih
23 #HmR| 1.2 5| BR 1201 FHh 26 ®wWX| 3 & HR 1234 & 1 29 HER| 11 5| 5FE 1294 &
23 @R 11 = | KR 1201 s 26 HR| 41 S| HEERE 1235 &Hih 29 #HER| 12 S| 5FE 121 &Hih
24 HER 1 = | HR 1212 #&Hih 26 WX 42 5| HERE 1235 &Hih 29 HXR| 13 S| 5FE 1269 Hih
24 HR| 2.1 5| BR 1212 #Hh 26 ®wWX| 5 S| HER 1235 &Hih 29  #HEX 2 =| R 1300 FHis




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

29 #HR 3 = | KR 1301 Z&Hih 30 ®wWX| 8 H| R 1280 &Hih 31 #HEX 7 =| 5R 1315 FHis
29 #HwR| 41 S| BR 1294 FHh 30 HR|[9-1 5| HEE 1289 Hih 1 31 #HEX 8 5| 5R 1314 FHis
29 #HwR| 42 S| BR 1294 FHh 30 HR|[9-2 S| HEE 1290 FHih 32 #HEX 1 5| R 1293 FHi
29 #HR ) = | R 1294 FHih 30 HR|[9-3 S| HEE 1290 Hih 32 #HER| 21 5| 5FE 1293 &
29 #HR 6 = | HRE 1271 &Hih 30 HR|[9-4 5| HEFE 1303 Hh 2 32 #HER| 22 5| 5FE 1293 &Hih
29 #HR 7 =| HKE 12710 Z&Hih 31 @R[ 1 5| HER 1313 &b 9 32 #HEX 3 5| 5R 1292 FHis
29 #HR 8 =| HKE 12710 s 31 #HR|[ 21 5| EERE 1313 FHitr 10 32 #HER| 41 5| 5FE 1292 FHih
30 HER| -1 5| BR 1303 FHih 31 #HwR| 22 5| HEFE 1317 &Hi 1 32 #HER| 42 B\ 5FE 1292 Hih
30 HR| 1-2 S| BR 1303 FHih 31 #HER| 31 5| HEERE 1313 FHir 11 32 HER| 51 5| 5FE 1292 Hih
30 #HmX 2 = | 5E 1303 Z&Hih 31 #HR| 32 5| HEE 1319 Hih 4 32 #HER| 52 B 5FE 1291 Hih
30 HR| -1 S| BRE 1290 FHih 31 #HR| 33 S| HEE 1319 HFi 1 32 HER| 53 B 5FE 1291 Hih
30 HR| 32 =| BRE 1290 FHih 31 #HER| 34 5| HEERE 1313 Fir 11 32 #HER| 54 S| 5FE 1292 Hih
30 HR| 33 S| BRE 1290 FHih 31 #HER| 41 5| HEE 1319 Hih 4 32 #HEX 6 = | 5R 1291 FHis
30 HR| 41 S| BR 1308 FHih 31 #HR| 42 5| HEFE 1319 H#h 6 32 HER| -1 5| 5FRE 1280 &Hih
30 HR| 42 S| BR 1308 FHih 31 #HR| 43 5| HEFE 1321 & 5 32 HR| 12 5| 5FRE 1286 &Hih
30 #HmX ) = | KR 1309 Z&Hih 31 #HER| 44 5| HFE 1319 HF#h 3 32 HER| 183 S| 5FRE 1285 &Hih
30 HR| 61 S| R 1309 FHih 31 #HER| 45 5| HEE 1319 HFih 1 32 #HER| 74 S| 5FE 1285 &Hih
30 HR| 62 S| BR 1310 FHh 31 HER| 51 5| HFE 1321 &H#h 5 32 HER| 75 S| 5FRE 1286 &Hith
30 HR| 63 S| BR 1314 FHih 31 #HR|[52 5| BEERE 1322 Hih 32 HER| 7-6 S| 5FE 1287 &Hih
30 HR| 64 S| BR 1309 FHih 31 #HER|6-1 5| HEERE 1323 &Hih 32 #HEX 8 5| 5R 1283 FHit
30 #HmR 7 = | R 1314 s 31 #HR| 62 5| HEFE 1322 HFi 1 32 #HER| 91 5| 5FE 1283 &Hih




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

32 #HwR| 92 S| BR 1284 FHih 34 #HR|2-1 5| BEERE 1292 FHih 3% HER| 51 S| 5FE 1337 Hih
3 HR| -1 5| BR 1316 FHih 34 #HR|2-2 5| BERE 12714 FHih 3% HER| 52 B 5FE 1337 Hih
3 #HR| 12 S| BR 1282 FHih 34 HR| 31 5| BEE 12714 FHih 3% HER| 53 F| 5FE 1352 Hih
3 #HER 2 =| H5E 1316 Z&Hih 34 #HR|32 S| HEE 1287 FHih 3% HER| 61 S| 5FE 1351 Hih
3 #HR| -1 S| BR 1318 FHih 34 HR|3-3 5| HEE 1287 FHih 3% HER| 62 F| 5FE 1343 Hih
3 #HR| 32 S| BR 1341 FHh 34 HR|34 5| HEE 1275 FHi 35  #HEX 7 5| 5R 1343 FHit
3 HR| 33 F| BR 1341 FHih 34 HR| 41 5| HEERE 1286 FHih 35  #HEX 8 = | 5R 1297 FHis
3 #HR| 34 S| BR 1342 FHih 34 HR|42 S| HERE 1285 FHih 36 #HRX 1 5| BR 12712 FHis
3 #HER 4 = | R 1339 Z&Hih M @#HR| 5 & HER 1283 &Hih 36 ®HX| 2-1 5| 5FRE 1214 FHih
3 HR| 51 S| BR 1338 FHih M #wHR| 6 S| HER 1219 &Hih 36 #HX| 2-2 S| 5FE 1214 &
3 #HR| 52 S| BR 1337 FHih M @wWR| 7T & BER 1219 &Hih 6 #HX| -1 S| HFE 1214 FHih
3 HR| 53 S| BR 1337 FHih % ®WX| 1 5| HER 1280 &Hih 36 #HX| 32 B HFE 1214 Hih
33 #HR| 4 S| BR 1337 FHih 3B HR|2-1 5| HEE 1280 FHih 36 ®HX| 41 S| 5FE 1219 Hih
3 HR| 55 S| BR 1338 FHih 3B HR| 22 5| BERE 1342 FHi 36 #HX| 42 B 5FE 1219 Hih
3 #HER 6 = | HE 1281 Z&Eih % ®wWX| 3 H| HER 1341 &Hih 36 ®HX| 43 S| 5FE 1219 Hih
34 #HR|[ -1 5| BR 1293 FHih 3B HER| 41 5| HEE 1340 FHih 36 #HX| 44 S| 5FE 1219 Hih
34 #HR| 1-2 S| BR 1292 FHh 3% HR|42 S| HEE 1339 Hi 36 #HX| 45 B 5FE 1219 Hih
34 HR| 13 S| BR 1292 FHih 3% HER|43 S| HEE 1338 FHih 36 #HX| 46 S| 5FE 1219 Hih
34 HR| 14 S| BR 12712 FHh 3% HR|44 5| HEERE 1352 Hih 37 #HEX 1 5| BR 1219 FHis
34 HR| -5 S| BR 12712 FHih 3% HER| 45 S| HEE 1351 FHih 37 #HER| 21 5| 5FRE 1344 Hih
34 HmR| 1-6 S| BR 12712 FHih 3% HR|46 S| HEE 1351 Hi 31 #HER| 22 5| 5FE 1343 &Hih




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

37 #HR| 23 S| BR 1343 FHih 38 #HER|32 S| HEE 1266 FHih 40 #HR 2 =| R 1310 FHis
37 #HR| 24 S| BR 1343 FHih 38 HER|33 S| HEE 1266 FHih 40 #HR 3 =| 5R 1368 FHith
37 #HR| 26 S| BR 1343 FHih 38 HR|34 S| HEE 1261 FHih 40 #HR 4 =| 5R 1353 FHih
37 #HR| 26 S| BR 1344 FHih 38 wWX| 4 F| BER 1241 Hih 40 #HR J =| 5R 1367 &His
37 #HR| 3-1 S| BR 1350 FHih 9 #wWX| 1 5| BER 1266 &Hih 40 #HR 6 5| 5R 1354 FHis
37 #HwR| 32 S| BR 1350 FHih 9 #wWX| 2 H| BER 1264 Hih 40 HwR| 7T-1 5| BER 1354 &
37 #HR| 33 S| BR 1349 FHih 9 #wWX| 3 H| HER 1213 &Hih 40 HwR| 72 S| BEERE 1362 &His
37 #HR| 34 S| BR 1349 FHih 39 HR| 41 5| BEERE 1276 FHih 4 HR| 42 S| BEERE 1396 &His
37 #HR| 35 S| BR 1350 FHih 39 HR|42 S| HEE 12771 Fie 4 #HR 6 =| R 1396 FHit
37 #HwR| 36 S| HR 1350 FHih 9 #wWX| 5 H| BER 1218 &Hih 46 HEX 2 5| 5R 1394 FHis
37 #HR| 41 S| BR 1350 FHih 9 ®wWX| 6 F| HER 1257 &Hih 47 #HR 1 =| R 1521 FHis
37 #HwR| 42 S| BR 1352 FHih 9 ®wWXR| 7T & BER 1257 &Hih 48 #HRX 1 5| 5R 1369 FHis
37 #HR| 43 S| BR 1352 FHih 9 ®HWX| 8 H| HER 1258 &Hih 48 #HR 2 5| 5R 1311 FHis
37 #HR| 44 S| BR 1352 FHih 9 ®wWX| 9 H| BER 1258 &Hih 48 #HR 3 =| 5R 1369 FHis
37 #HwR| 45 S| BR 1352 FHih 39 ®wWX| 10 5| HER 1263 &Hith 48 #HRX 8 =| 5R 1369 FHis
37 #HwR| 46 S| BR 1352 FHih 9 HwWXR| 11 5| BER 1263 &Hith 48 #HRX 9 5| R 1383 FHit
37 #HwR| 47 S| BR 1349 FHih 9 ®wWR| 12 5| BER 1264 &Hih 48 #HRX 10 5| 5F 1383 it
37 @R ) = | H5IR 1344 FHih 40 HRER|(1-1 5| BERE 12718 &Hih 50 #HRX 1 5| 5R 1377 &His
38 X 1 = | R 1268 #&Hih 40 HR|(1-2 5| EERE 1370 &His 50 #HRX 2 =| 5R 13719 FHi
38 #HEX 2 =| HKE 12710 Z&Hih 40 HR|[1-3 5| HEE 1370 &His 50 #HEX 3 =| R 1380 FHi
38 HR| -1 S| BR 1268 FHih 40 HR|(1-4 5| HERE 1257 &Hih 50 #HRX J =| R 1318 FHi




E31P =l RREHM HE {3153 5 REREH HF {3153 = REREN HEF

50 #HRX 6 = | 5K 1378 Z&Hih 53 HRER|[ 51 S| BEERE 1256 &Hih 56 ®HX| 2-1 S| 5FE 989 &Hih
51 #HRX 1 =| 5K 1370 Z&Hih 53 #HRER|[52 S| HEERE 1255 &Hih 56 ®HX| 2-2 S| 5FE 989 &Hih
51 #HR| 2.1 S| BR 1370 FHih 53 HRER|[53 B HEERE 1264 Hih 56 ®HX| 23 S| 5FE 977 &
51 #HR| 22 S| BR 13711 FHh 53 HWRER|6-1 5| HERE 1255 &Hih 56 #HX| 51 S| 5FE 93 &Hih
51 #HR| 31 S| BR 13711 FHih 53 #HWRER|6-2 S| HEE 1260 &Hih 56 #HEX| 52 S| 5FE 96 &Hih
51 #HR| 32 =S| BR 1316 FHih 4 @®wR| 1 5| BER 1247 Hih 56 ®HX| 6-1 S| 5FE 952 &Hih
51 #HRX 4 = | R 1375 #&Hih %4 HmR|2-1 5| BERE 1248 &Hih 56 ®HX| 62 S| 5FE 952 &Hih
51 #HRX ) = | R 1313 #&Hih %4 #HmR| 22 5| BERE 1249 FHih 56 #HX| 63 S| 5FE 949 Hih
51 #HRX 6 = | HR 1372 s %4 WX 23 5| HEERE 1249 FHih 57 #HEX| 11 5| 5FRE 1262 &Hith
51 #HmR| 71 S| BR 1372 #Hih %4 WX 24 5| HERE 1248 &Hih 57 #HEX| 1-2 5| 5FRE 1262 &
51 #HR| 72 S| BR 13711 FHih 4 ®wWRXR| 3 & BER 1250 &Hih 57 #HEX| 1-3 5| 5FE 1262 &Hih
51 #HER| 783 S| BR 13711 FHih 4 ®WR| 4 H| BER 1254 &Hih 57 #HER| 2-1 5| 5FRE 1247 FHih
52 R 1 =| HKE 930 #&Hih %4 R |51 S| HERE 1263 &Hih 57 #HRX| 2-2 5| 5FRE 1247 FHih
52 R 2 = | HE 929 #&Hih %4 WX |52 S| HRE 1263 &Hih 57 #HRX| 23 5| 5FRE 1246 Hih
52 R 3 = | H5R 928 #&Hih % ®WR| 1 5| BER 1247 &Hih 57 #HRX| 24 S| 5FRE 1246 Hith
52 R 4 = | 5E 1519 s % ®WXR| 2 S| BER 1248 &Hih 57 #HRX 3 5| BR 1247 FHis
52 R ) =| HE 931 &Hih % HR| 31 5| HEE 1249 FHih 57 #HRX 4 5| BR 1246 FHis
53 #HR 1 = | R 1262 Z&Eih % ®HR| 32 S| HEE 1250 Hie 57 #HEX J 5| BR 1246 FHis
53 #HR 2 = | R 1261 s % ®HR| 33 S| HEE 1261 Hih 58  #RX 1 5| R 1266 FHis
53 #HR 3 = | R 1259 #&Hih % ®WX| 4 S| BER 1252 &Hih 58  #RX 2 5| BR 1244 Fis
53 #HR 4 = | 5 1256 #&Hih %6 ®wWX| 1 5| BER 989 &Hih 58 #HEX| 3-1 B 5FE 1244 FHih




{3153 =l REREH HhE {3153 RKREH HFE #HX = RREH HFE

8 ®WX| 32 F| BERE 1244 FE (31> 5 £ X 5 &
%8 ®WX| 33 F| HERE 1242 #& (31> 5 £ X 5 &
%8 ®WXR| 34 F| HER 1242 % (31> 5 £ X 5 &
58 R 4 5| 5&R 1243 #F (31> 5 £ X 5 &
59 R 2 5| 5&R/ 133 & 31> 5 £ {3153 5 &
59 R 3 5| 5&R 1336 & 31> 5 £ {3153 5 &
%9 #®wWX| 41 5| BER 1336 & 31> 5 £ {3153 5 &
%9 #®wWXR| 42 S| HER 133 & 31> 5 £ {3153 5 &
%9 ®WX| 43 F| HER 135 & 31> 5 £ {3153 5 &
%9 ®WX| 44 S| HER 135 & 31> 5 £ {3153 5 &
%9 ®WX| 51 & BER 13 & 31> 5 £ {3153 5 &
%9 ®WX| 52 & BER 135 & 31> 5 £ {3153 5 &
%9 ®WX| 53 & HER 135 & 31> 5 £ {3153 5 &
%9 ®WX| 54 F| HER 135 & 31> 5 £ {3153 5 &
61 #HEX 1 5| 5R 1723 & 31> 5 £ {3153 5 &
61 #HEX 2 5| R 1724 & 31> 5 £ {3153 5 &
61 #HEX 3 5| R 1722 & 31> 5 £ {3153 5 &
63 #HEX 1 5| &R 1713 & 31> 5 £ {3153 5 &
63 #HEX 2 5| 5R 1713 & 31> 5 £ {3153 5 &
63 #HEX 3 5| 5R 1725 & 31> 5 £ {3153 5 &
63 #HEX 11 5| 5R 1713 & 31> 5 £ {3153 5 &




